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Explain Marginal Costing with its advantages and 20
disadvantages.

OR

The budget officer of A I.td. has prepared budget for the 20
incoming year and the following information is available
from it :

Sales (1,00,000 UItS) oo Rs. 1,00,000
Variable expenses............... Rs. 40,000
Fixed expenses................... ... Rs. 50,000

From the above mentioned information find out :

(1) Profit volume ratio (2) Break-even point and (3) Margin
of safety and how these will he affected in the following
circumstances :

(@) Selling units increases by 20%.
(b) Variable expenses increases by 5%
(¢) TFixed expenses increases by . 40%.

(d) Selling price increases by AD% and selling units reduces
by 20%.

Write a note on (in detail) 20
(1) Value chain analysis
(2) Activity based costing.

OR
Write a note on (in detail) 20
(1) Life cycle costing
(2) Quality costing.
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